
SAP ABAP table T7AR90 {Rules for calculating compensation}

T7AR90

MANDT [CLNT (3)]

TEGRP [CHAR (2)]

EGGRP [CHAR (4)]

TCSES [NUMC (2)]

TIPTE [CHAR (4)]

COIND [CHAR (4)]

LGART [CHAR (4)]

T000

MANDT [CLNT (3)] T7AR90-MANDT = T000-MANDT 0..N

1

T512W

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

LGART [CHAR (4)]

ENDDA [DATS (8)]
 T7AR90-LGART = T512W-LGART 0..N

1

T591A

MANDT [CLNT (3)]

INFTY [CHAR (4)]

SUBTY [CHAR (4)]

 T7AR90-TIPTE = T591A-SUBTY 
0..N

1

T7AR40

TCSES [NUMC (2)]

 T7AR90-TCSES = T7AR40-TCSES 

0..N

1

T7AR95

MANDT [CLNT (3)]

COIND [CHAR (4)]

 T7AR90-COIND = T7AR95-COIND 

0..N

1

T7AR98

MANDT [CLNT (3)]

EGGRP [CHAR (4)]

 T7AR90-EGGRP = T7AR98-EGGRP 

0..N

1


